
LECTURE NOTES: 4-5 CURVE SKETCHING
(PART 2)

WARM UP PROBLEM Find your copy of the Graphing Guidelines!
PRACTICE PROBLEMS

1. Sketch the curve y = x� 2 sinx on [�2⇡, 2⇡].

(a) Find the domain.

(b) Find the x and y-intercepts.

(c) Find the symmetries/ periodicity of the curve.

(d) Determine the asymptotes.

(e,f) Determine where the function is increasing/ decreasing and find the local maximum/ mini-
mum values
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(g) Find the intervals of concavity/inflection points.

(h) Sketch the curve.

2 Section 4-5 (part 2)

answer

y
's 1 - Zcosx -

:

y is concave up on EZI
,

# U ( 0,1T) and

So
y

"
= ZSMX

. concave down on t'T ,0)U( HIZ 'T )
a

So
y "=o In EZF ,2I] inflection points :

when X= It ,
- I. 0,1T ,2I y×|I¥|#0 I

text
"

✓ ✓ -

0 + 0 - O + O
- On sign of

y
"

y
t

points to plot :

•t2T,

- 2⇒ ✓ Zt - -
- - -y .y@

←

(-55 ,
: - 3. 5) ✓ •

'

r .

t
.

C- If ,
a 0.69 ) ✓ Y,•-•¢,i; / • 2T '

×

✓ . q( o
,

o ) .

•
1 f

✓ i

( Is ,=
- 0.69 ) ,

( SF ,
a 3. 5) ✓

→

&e•¥
-

-  -  - '  - za

a k

( 2h ,
2 'T

)✓
• local Max pts • inflection pts

• local min pts



2. Sketch the graph of f(x) =
3x2

x

2 + 4

(a) Find the domain.

(b) Find the x and y-intercepts.

(c) Find the symmetries/ periodicity of the curve.

(d) Determine the asymptotes.

(e,f) Determine where the function is increasing/ decreasing and find the local maximum/ mini-
mum values

(g) Find the intervals of concavity/inflection points.

(h) Sketch the curve.
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3. Sketch the graph of f(x) = x

p
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(a) Find the domain.

(b) Find the x and y-intercepts.

(c) Find the symmetries/ periodicity of the curve.

(d) Determine the asymptotes.

(e,f) Determine where the function is increasing/ decreasing and find the local maximum/ mini-
mum values

(g) Find the intervals of concavity/inflection points.

(h) Sketch the curve.
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details for example # 3
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4. Sketch the curve y =
xp

9 + x

2

(a) Find the domain.

(b) Find the x and y-intercepts.

(c) Find the symmetries/ periodicity of the curve.

(d) Determine the asymptotes.

(e,f) Determine where the function is increasing/ decreasing and find the local maximum/ mini-
mum values

(g) Find the intervals of concavity/inflection points.

(h) Sketch the curve.
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5. Sketch the curve y =
x

3 + 4

x

2

(a) Find the domain.

(b) Find the x and y-intercepts.

(c) Find the symmetries/ periodicity of the curve.

6 Section 4-5 (part 2)

C- a ,o)u( o ,
x )

no y
- intercept

Setyto . Then x=3F4~~ - 1.587

none

the ×3t4 destroys all hope



(d) Determine the asymptotes. (Try to find the slant asymptote. That is, what line does this
function approach as x ! ±1?)

(e,f) Determine where the function is increasing/ decreasing and find the local maximum/ mini-
mum values

(g) Find the intervals of concavity/inflection points.

(h) Sketch the curve.
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